1.
The financial ratio measured as net income divided by total assets is known as the firm’s:


a.
profit margin.


b.
return on assets.


c.
return on equity.


d.
asset turnover.


e.
earnings before interest and taxes.

2.
The three parts of the Du Pont identity can be generally described as:


a.
operating efficiency, asset use efficiency and firm profitability.


b.
short term solvency, operating efficiency and asset use efficiency.


c.
the equity multiplier, the profit margin and the total asset turnover.

d.
the debt-equity ratio, the capital intensity ratio and the profit margin.

e.
the total debt ratio, the current ratio, and the inventory turnover.

3.
An annuity stream of cash flow payments is a set of:


a.
level cash flows occurring each time period for a fixed length of time.


b.
level cash flows occurring each time period forever.


c.
increasing cash flows occurring each time period for a fixed length of time.


d.
increasing cash flows occurring each time period forever.


e.
arbitrary cash flows occurring each time period for no more than 10 years.

4.
The dividend payout ratio is calculated as:


a.
net income minus additions to retained earnings.


b.
dividends divided by the change in retained earnings.

c.
net income minus dividends.


d.
dividends divided by net income.


e.
one plus the retention ratio.

5.
You are comparing two annuities which offer monthly payments for ten years. Both annuities are identical with the exception of the payment dates. Annuity A pays on the first of each month while annuity B pays on the last day of each month. Which one of the following statements is correct concerning these two annuities?


a.
Both annuities are of equal value today.


b.
Annuity B is an annuity due.


c.
Annuity A has a higher future value than annuity B.


d.
Annuity B has a higher present value than annuity A.


e.
Both annuities have the same future value as of ten years from today.

6.
As the discount rate increases, the present value of $500 to be received six years from now:


a.
remains constant.


b.
also increases.


c.
decreases.


d.
becomes negative.


e.
will vary but the direction of the change is unknown.

7.
Katie is going to receive $1,000 three years from now. Wilt is going to receive $1,000 five years from now. Which one of the following statements is correct if both Katie and Wilt apply a 5 percent discount rate to these amounts?


a.
The present value of Katie and Wilt’s money is equal.


b.
The value of Wilt’s money will be greater than the value of Katie’s money six years 


from now.


c.
In today’s dollars, Wilt’s money is worth more than Katie’s.


d.
In five years, the value of Katie’s money will be equal to the value of Wilt’s money.


e.
Katie’s money is worth more than Wilt’s money today.

8.
Jessica’s Boutique has cash of $100, accounts receivable of $260, accounts payable of $500, and inventory of $180. What is the value of the current ratio?


a.
.27


b.
.54

c.
0.78

d.
1.08

e.
1.20

Solution:  current ratio = current assets divided by current liability.  Current assets equal cash plus accounts receivable plus inventory: $100+$260+$180=$540.  Current liabilities equal accounts payable: $500.  Therefore, current ratio is $540 / $500 = 1.08

9.
A firm has a return on equity of 15 percent. The debt-equity ratio is 50 percent. The total asset turnover is 1.25 and the profit margin is 8 percent. The total equity is $3,200. What is the amount of the net income?


a.
$480


b.
$500


c.
$540


d.
$600


e.
$620
This problem is taken from one of the previously posted assignments

10.
A firm has sales of $1,000, current assets of $400, current liabilities of $600, long term debt of $500, net fixed assets of $1,800, and a 5 percent profit margin. The firm does not pay any dividends and does not wish to acquire any new long term debt. If all assets, costs, and current liabilities vary directly with sales, how much additional equity financing is required to support a 10 percent increase in sales?

a.
$15


b.
$65

c.
$78

d.
$105

e.
$130

Solution:  To figure out equity financing needed, you have to build a pro forma balance sheet and a pro forma income statement.  
From the pro forma balance sheet, the total assets will increase by 220 (ten percent of the current total assets which equal current assets plus net fixed assets: 400+1800=2200).  
Part of the increase is financed by the 10 percent increase in current liabilities, which equals $60.  Another part is financed by the future net income.  The current net income equals profit margin times sales: 0.05*$1000 = $50.  Thus, pro forma net income is 10 percent larger: 1.1*$50 = $55.  
Altogether, $115 of the required increase in total assets is financed by the increase in current assets and the pro forma net income ($60+$55 = $115).  The remaining $220–$115 = $105 must be financed using equity because the firm does not wish to raise any new long term debt.
11.
You borrow $5,000 to buy a car. The terms of the loan call for monthly payments for five years at a 6 percent rate of interest (APR compounded monthly). What is the amount of each payment?


a.
$23.98

b.
$69.48

c.
$73.60

d.
$81.23

e.
$96.66
Solution: Use present value of an annuity formula:  PV = C(1–1/((1+r)^t))/r.  Because the coupons are monthly, we need to calculate a monthly interest rate: r = 0.06 / 12 = 0.005, and t represents the number of month: t = 5*12 = 60.  Substituting PV = 5000, r = 0.005, and t = 60, find that C = 96.66
12. 
Martha receives $100 on the first of each month. Stewart receives $100 on the last day of each month. Both Martha and Stewart will receive payments for five years. At an 8 percent discount rate (APR compounded monthly), what is the difference in the present value of these two sets of payments?


a.
$32.88


b.
$40.00


c.
$99.01


d.
$108.00


e.
$112.50
Solution: Use present value of an annuity formula:  PV = C(1–1/((1+r)^t))/r to calculate the present value of Stewart’s income.  Because coupons are monthly, we need a monthly interest rate: r = 0.08/12 and t is the number of month: t = 5*12 = 60.  Using C = 100, find PV for Stewart is 4,931.84.   

Use present value of an annuity due formula:  PV = [C(1–1/((1+r)^t))/r]*(1+r) to calculate the present value of Martha’s income.  As before, interest rate is: r = 0.08 / 12, and t = 60.  Using C = 100, find PV for Martha is 4,964.72.
The difference between the two present values is 32.88   

13.
Alpha, Inc. is saving money to build a new factory. Six years ago they set aside $250,000 for this purpose. Today, that account is worth $306,958. What rate of interest (EAR) is Alpha earning on this money?


a.
3.43 percent


b.
3.45 percent


c.
3.48 percent


d.
3.52 percent


e.
3.55 percent

Solution: Use present value formula:  PV = FV/((1+r)^t).  Substituting PV = 250,000; FV = 306,958; and t = 6, find that r = 3.48

14.
The Robertson Firm is considering a project which costs $123,900 to undertake. The project will yield cash flows of $4,894.35 monthly for 30 months. What is the rate of return (APR compounded monthly) on this project?

a.
12.53 percent


b.
13.44 percent


c.
13.59 percent


d.
14.02 percent


e.
14.59 percent

Solution:  Use present value of an annuity formula:  PV = C(1–1/((1+r)^t))/r.  We have PV = 123,900;  C = 4,894.35; and t = 30.  To find the answer, take each of the five possible choices, divide it by 12, and plug into the right hand side of the annuity formula.  If you find that the right hand side (approximately) equals the left hand side, you got the right answer.  Note:  due to rounding error, you almost never get the exact match between the left hand side and the right hand side.  To pick the right answer, simply choose the one that offers the closest match. 

15.
You are paying an effective annual rate of 13.8 percent on your credit card. The interest is compounded monthly. What is the annual percentage rate on your account?


a.
11.50 percent


b.
12.00 percent


c.
13.00 percent


d.
13.80 percent


e.
14.71 percent

Solution:  Use the conversion formula  EAR = (1+APR/m)^m – 1. We have APR = 0.138 and m = 12 (monthly compounding).  Thus, EAR = 0.1300, or 13 percent.
